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  .ا����ا��� �� ا����م ا����� ا�
��ي  RLCا��ارة 
�����ر  

 �����1   

	�� و����� ��	 
��� (r=10Ω,L=0.1H)  ����� ا
��� :  

 t 100cos210 π=u     
  . ـ أ+*( �)���� ه&% ا$#ارة 1
�ر2/ �i/ ـ �� ه uϕ ��012$ا$3#ة ا(t)  i 
��62$ ��*7$�	(t) u  ؟  

  .   i(t)ــ أو�# ����
 ا$3#ة ا��012$  3
 �����2   


 >� دارة (=)R ,L,C(  ��012$@ ا��76وب ���� �#�ر ���ا$� �) :  mAب(B2C ا6$
i(t)=13.5cos300t  

       ����Ω   R=110     وL=250mH    وC=12µF    
  : 	�6C)�دك B2C إ��3ء >
=O�7 ا$)M$ )N�7&% ا$#ارة 

1  )�S$ا �T�7� ��	

 ا$��Vل 	�� ���  .  (R ,L,C)ــ ا+*( ا6$
2  
��i/ــ ا+*( /�ر �#ة ا$��6ر 	�62$ ��*7$ uϕ .  

 �����3   
I  ��$�6$آ��ت ا

	�B2C ��T ا$)Mدارة آ O(63� ــ :  

  .  R=24Ωــ ��OZ أو�� ��Sو�6@ 
 @6�N \]^� ــC  .  

 �M_=
1� O���� ــ و����L  ��2`ا$#ا �M6�و�S�وr  .  
 #$�
	���T ا$)
آ�� B2C ا6$�ا$� 	)M^$ا �C�(a($ي ا#c�GBF  ���� �76وب� 
��6	u(t)=Umcos2πNt  

  . �l	N  k�_2$ Oوا6$
دد  Um=10V	i�1 أن 

	��T ه� M^$ا$3#ة ا$��012 $��62ر ا( ) ( )uiNt22Iti

/
cos ϕ+π=  

1  O`#($#`�2� ���=� >� ا�&ب ذي 	ا$6& nNرا ��Nا�
  Y1ــ 	��
  Y2و>� ا$)#`u(t)  Oا6$�� uR(t)ا6$

	�� ا$)�OZ اpو�� � ��	 .  

 nNرا k	ر �M	 n6= �6$ا ��V�^$ا ��	�1 qوا ������ B2C
  . ا$6&	&ب 

2  �(�S$ا B2C دد
�N=202Hz  B2C s+tــ k�q #7C ا6$
>� اO^3$ ) 2(و ) 1(��ن ���� راnN ا$6&	&ب ا$)717

 @���� .  

 ) 1(	�� أن  ا$)B717  1ــ  2��واO](=u(t)  u676N ا6$

�OZ أو�� ( /���� ا$#ارة ($ �v<�^� آ[�>�� أو ، ��_=
1� (  

	��T  2ــ  2M^$��62ر ا$ �$��V$ا �(�S$د ا#+I  ر�uiو ا$� /ϕ   

3 n2N `��6ر�	و O7=
Voltــ 	�3�xء >
2

2
cm1 أو�# ↔

 �����   Cو��N ا$)^[\   �(�lr��Sو�� ا$
�ل  Umــ �sV61 ب  4y1$س ا�Nأ B2C دد

 ا6$�c�6 و�	��

�ا>
 >� ا$��ر 	�� � B2Cu(t)  وuR(t)    
  �� اnN ا$�0ه
ة ا$)�M�2C Oy1 ؟  1ــ  4
�م 	�$}=�دة $�S)�  2ــ  4S� Oة ه

 ه&% ا$�0ه�S16$N  اب�a$ا O2C ؟ �M��yS7	 أو .  

�����4  

 ا��$�6$ Z�7�$ا B2C ��T�	
Mدارة آ O(63�


آ�� B2C ا6$�ا$� � :  
 @6�N \]^�C=5µF  O���� و و����

 �M_=
1�L=0,5H  �2(M� ��2`ا$#ا �M6�و�S�و
6
  R=10Ωو��OZ أو�� ��Sو�6@ �
وأ���

 �2(M� �M6�و�S� .  

	��T ��76وب ���� Mآ 
���c#ي ا$#ارة 	6
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( ) Nt220tu π= cos  . ��	
6
 ذي ��Sو�� آ��
ة �#ا �
آ�� 	�� �(�$�<(C,L)  .  

 ا6$
دد  1�c� ��#7C ــN  �(�S$ا B2C @��_و�N0   أي أن ���7#� �(�l B$إ 
�3� 
6(�$�V$أن ا s+t�

 ��#�7� 
��  . ا6$
6
  1ــ  1(�$�V$إ��رة ا 
  .  N0ا�l u676N)� ا6$
دد و. >*

ي ا$�713  2ــ  1���� kCأq(t)  وا$3#ةi(t)  7*�� ل$�	N=N0  .  

 ا$���l ا$^��2  3ــ  1���� kCأE  &ب	2)6&$R,L,C( (  �01$ �<t  دد
6$ ��*7$�	N  .  
��	�6 	�$7*�� ل  E	�� أن ا$���l ا$^��2  4ــ  1N=N0  )*+واE  �(�S$ا %&M$ ��*7$�	(N0)  .  

 7C# ا$
��� 	�M$ ��*7$&% ا$#ارة  5ــ  1���ق ا6$< O���� )*+ف وا
C .  

	��T ا$)�ر >� ا$#ارة ه� .  N �(�l B2C=90Hz N1ــ �_�k ا6$
دد  2M^$ا$3#ة ا$��012 $��62ر ا 
���� :

( ) ( )ϕ+ω= tIti 1cos  
  هO ا$#ارة آ[�>�� أم �1
=_�� ؟ .  ϕو ا$��ر  I	��6N)�ل إ��3ء >
=O7 ، +#د ا$3#ة  1ــ  2
   .  1Nأ+*( ����O ا$S#رة $M#% ا$#ارة وا$S#رة ا$)6���N ا$)* �^2M6	��S2$ ��*7$)�  2ــ  2

 �����5  
 O^3$ا$))[�2 >� ا ��T�	
M^$ن ا$#ارة ا�^6�1  �� :  

�OZ أو�� ��Sو�6@   •�R  k�_2$ �2	�l .  
•  )�l �T�7�D  �$�Ma� @6���/ , ن إ��$^7@ � =)^� أن =^

 �2(M� �M6�و�S� أو و���� �V]^� . 
•   �V��$# ذي �
دد �7�G.B.F  �T�	
M��6ر آ	ود ا$#ارة {=

  .  i(t)=Im cos ωt:  ��76وب ���� �#�@ ا��012$ 
1  
��
	��   u1(t)ــ ���=� 	�ا��N راnN ا$6&	&ب ا6$� ��	

 
����T�7 ا$�S(  u2(t)ا$)�OZ اpو�� وا6$ ��	
� ��	D  .  
 @2VNأ O^3$ا$)��� >� ا nN
  . >B2C Oy17 ا$

B2C �S<pا$^*� ا k�q #�	 �$وذ  
 5.10-3s/div. B2C ��Nأ
  و ا��N�*1$ ا$

1V/div.  .  
  : +#د �������  1ــ 1

 ��6=�yS$�6� ا(�S$أ ــ اU1m  وU2m  �=
��62$u1  و
u2  ,  

�n اi(t)  ����/ u676N	�$7*�� ل  u2ب ــ /�ر 
 )�S$ا �T�7�D  .  

أو�# �l)� ا$)S#ار ا$�T�={�V ا$&ي =)�}  2ــ  1
 )�S$ا �T�7�D   

  .  2CR=300Ω)� أن 
2  
  .  i(t) , u1(t) ,u2(t)ــ اu676N ا���6$

 �����6   
     )�S$ا �T�7�
 ���� AB�c#ي ��6	 

ttu π100cos240)( =  

 )�S$ا �T�7��ن ^6=AB  )�S$ت ا��T�7]$ ��(a� ��D1  وD2   :  
D1  @6�و�S� ��أو OZ��R1=7Ω  .  
D2  �M_=
1� O���� و����L  ��2`ا$#ا �M6�و�S�وR2  .  

 ��	
� ��	 �Mآ�
� ��#7C 
6(�$�V$ا 
�3�D1  ل��V$ا 
��
آ� �M	��  U1=14Vإ$B ا6$� ��#7Cو
 ��	
�D2  B$إ 
�3�U2=30V  .  

1 62$ �$��V$ــ أ+*( ا$3#ة ا )�S$ا �T�7� �< 
  .  ��ABر ا$&ي =)
2$����� وا$))����  Z2ــ أ+*( ا$))����  2Z  )�S$ا �T�7]$AB   .  
  .  R2و Lوا+*( n�l . ــ أkC إ��3ء >
= O7	�M$ ��*7$&% ا$))����ت  3

 ϕ2ا+*( >
ق ا$��ر  ــ 4��62$u2  7*�� $32#ة$�	i(t)  .  
��T�7 ا$ϕı  )�Sــ أ+*( >
ق ا$��ر  5 ��	
� ��	 
��62$AB  7*�� $32#ة$�	i(t) . 


